

PFM Consulting LLC

May 23, 2025

Colorado Division of Reclamation, Mining and Safety 1313 Sherman Street Room 215 Denver, CO 80203

RE: Verhoeff Gravel Pit #1 TR-1 Adequacy Review #3 Response

Ms. Armstrong,

Please see the following responses to the items in Adequacy Review #3:

- 1. Please see the updated Map.
- 2. Please see the updated Map.
- 3. Please see the updated Map.
- 4. Please see the updated Map.
- 5. The operator will commit to submitting a Technical Revision prior to mining Phase 2. The operator requests for clarification from the Division regarding "all Phase 2 information". Could the Division please specify what information is missing in Phase 2 that will need to be included in a TR?
- 6. The proposed maximum disturbance of this site would be 130 acres when considering the site in its entirety. However, if the Division requests the maximum disturbed acreage of Phase 1, it is 120 acres. The maximum disturbance of Phase 1 and the road/scale house is 123 acres.
- 7. The maximum length of the haul road in Phase I is 2,450 feet and covers approximately 3 acres, including the scale and scale house.
- 8. Please see the updated Map.
- 9. Please see the updated Reclamation Costs with 123 acres.



10. The Highwall and Gravel Access Road are included in items #1 and #2 and #3 of the Direct Tasks below.

## **Reclamation Costs**

Reclamation cost estimates were calculated on a per acre basis and applied to a maximum active mining

Direct Tasks	Unit	Quantity	Cost	Total Cost
Grading Highwalls				
Grading/Ripping Highwall, Stockpile &	Hours	10		\$1,450.00
Processing Placing Topsoil/Fines				
123 Acres @6" Depth				
Bull Dozer	Hours	10	\$145.00	\$1,450.00
Loader	Hours	10	\$145.00	\$1,450.00
Seeding 123 Acres				
Broadcasting	Hours	3	\$300.00	\$900.00
Seed Mix	Acre	1	\$350.00	\$350.00
Mulch	Acre	1	\$187.50	\$187.50
Tracking seed/mulch				
Dozer	Hours	3	\$154.00	\$462.00
Area Reclaimed	Acre	123		\$232,290.00
Mobilization Fee (From Lamar)	Hours	1	\$5,000.00	\$5,000.00
Indirect Tasks				
Liability Insurance			0.0155	\$2,360.00
Performance Bond			0.015	\$2,284.00
Profit			0.1	\$15,232.00
Job Superintendent	Hours	20	\$88.00	\$1,760.00
Miscellaneous Indirect			0.0925	\$14,089.00
Total Bond				\$273,015.00

area of Phase I of 123 acres.

If anything, further is needed in order to approve this request, please let me know.

Sincerely,

Jodi Schreiber

Jodi Schreiber Owner, PFM Consulting LLC







